Microeconomics II
Homework 9
Question 1. 
Molly has a Cobb-Douglas utility function U(c1,c2)=c1ac21-a , where 0 <a<1 and where c1 and c2 are her consumptions in periods 1 and 2 respectively.
 (a) Suppose that Molly’s income is m1 in period 1 and m2 in period 2. There is no inflation. Write down her budget constraint in the period 1 prices, i.e. in present value terms.
[bookmark: _Hlk510615434](b) If Molly does not consume anything in period 1, what is the most she can consume in period 2? If Molly does not consume anything in period 2, what is the most she can consume in period 1?
(c) If a = .2, solve for Molly’s demand functions for consumption in each period as a function of m1, m2, and r. 
(d) How will an increase in the interest rate affect her period-1 and period-2 consumptions? How will it affect her savings in period 1?
e) Now suppose there is inflation. Write down the budget constraint. How would the consumption levels in the two period change if inflation rises? 
 Question 2.
Nickleby has an income of $2,000 this year, and he expects an income of $1,100 next year. He can borrow and lend money at an interest rate of 10%. Consumption goods cost $1 per unit this year and there is no inﬂation.                        
(a) What is the present value of Nickleby’s endowment? What is the future value of his endowment?
(b) What is the slope of Nickleby’s budget line?
(c) Suppose that Nickleby has the utility function U(C1,C2)=C1C2. Find Nickleby’s optimal consumption this year and optimal consumption next year.
(d) Will he borrow or save in the ﬁrst period, and how much?

